PRACTICE QUESTIONS 
COMPUTER SCIENCE (083) CLASS XII
(EXPECTED FORMAT AND IMPORTANT FROM THE POINT OF VIEW OF BOARD EXAMS)
Important Note: 

· Students are advised to practice previous board question papers as many as possible.

· Practice the papers question wise. You are already aware of the chapter wise distribution of questions.

· Students are also advised to write the syntax with the definitions, wherever asked in the question paper.

	Q.1.
	a)
	What is the difference between automatic type conversion and type casting?  Also give a suitable C++ code to illustrate both.
	2

	
	
	
	

	
	b)
	Which C++ header file(s) will be essentially required to be included to run/execute the following C++ code?

void main( )

{

int eno = 123;

char ename[ ] = “Rehan Swarup”;

cout<<setw(5)<<eno<<setw(25)<<ename<<endl;

}
	1

	
	
	
	

	
	c)
	Rewrite the following C++ program code after removing the syntax error(s) if any. 

#include<iostream.h>

class train

{

long trainno;

char description[25];

public

void entry( )

{

cin>>trainno;

gets(description);

}

void display( )

{

cout<<trainno<<“ : ”<<description<<endl;

}

};

void main( )

{

train t;

entry.t( );

display.t( );

}
	2

	
	
	
	

	
	d)
	Find the output of the following program:
#include<iostream.h>

struct point

{

int x, y, z;

};

void stepin(point &p, int step = 1)

{

p.x+=step;

p.y-=step;

p.z+=step;

}

void stepout(point & p, int step = 1)

p.x-=step;

p.y+=step;

p.z-=step;

}

void main( )

{

point p1 = {15, 25, 5}, p2 = {10, 30, 20};

stepin(p1);

stepout(p2,4);

cout<<p1.x<<“ , ”<<p1.y<<“ , ”<<p1.z<<endl;

cout<<p2.x<<“ , ”<<p2.y<<“ , ”<<p2.z<<endl;

stepin(p2, 12);

cout<<p2.x<<“ , ”<<p2.y<<“ , ”<<p2.z<<endl;

}
	3

	
	
	
	

	
	e)
	Find the output of the following program:

#include<iostream.h>

#include<ctype.h>

void changeit(char text[ ], char c)

{

for(int k = 0; text[k]!=‘\0’; k++)

{

if(text[k]>=‘F’ && text[k]<=‘L’)

text[k] = tolower(text[k]);

else

if(text[k] = = ‘E’ || text[k] = = ‘e’)

text[k] = C;

else

if(k%2 = = 0)

text[k] = toupper(text[k]);

else

text[k] = text[k – 1];

}

}

void main( )

{

char oldtext[ ] = “pOwERALone”;

changeit(oldtext, ‘%’);

cout<<“New Text:”<<oldtext<<endl; }

	2

	
	f)
	The following code is from a game, which generates a set of 4 random numbers.  Yallav is playing this game, help him to identify the correct option(s) out of the four choices given below as the possible set of such numbers generated from the program code so that he wins the game.  Justify your answer. 
#include<iostream.h>

#include<stdlib.h>

const int low = 15;

void main( )

{

randomize( );

int point = 5, number;

for(int i = 1; i<=4; i++)

{

number = low + random(point);

cout<<number<<“ : ”;

point--;

}

}

Possible outputs:

i) 19:16:15:18:

ii) 14:18:15:16:

iii) 19:16:14:18:

iv) 19:16:15:16:
(a) What is the difference between Global Variable and Local Variable? Also, give a suitable C++  code to illustrate both.  2

(b) Which C++ header file(s) will be essentially required to be included to run /execute the following C++ code:                                                              1

void main()

{

char Msg[ ]="Sunset Gardens";

for (int I=5;I<strlen(Msg);I++)

puts(Msg);

}
(c) Rewrite the following program after removing the syntactical errors (if any).                                  2

#include [iostream.h]

class MEMBER

{

int Mno;float Fees;

PUBLIC:

void Register(){cin>>Mno>>Fees;}

void Display{cout<<Mno<<" : "<<Fees<<endl;}

};

void main()

{

MEMBER M;

Register();

M.Display();

}

 (d) Find the output of the following program:                                            3

#include <iostream.h>

struct GAME

{ int Score, Bonus;};

void Play(GAME &g, int N=10)

{

g.Score++;g.Bonus+=N;

}

void main()

{

GAME G={110,50};

Play(G,10);

cout<<G.Score<<":"<<G.Bonus<<endl;

Play(G);

cout<<G.Score<<":"<<G.Bonus<<endl;

Play(G,15);

cout<<G.Score<<":"<<G.Bonus<<endl;

}

(e) Find the output of the following program:                                               2

#include <iostream.h>

void Secret(char Str[ ])

{

for (int L=0;Str[L]!='\0';L++);

for (int C=0;C<L/2;C++)

if (Str[C]=='A' || Str[C]=='E')

Str[C]='#';

else

{

char Temp=Str[C];

Str[C]=Str[L-C-1];

Str[L-C-1]=Temp;

}

}

void main()

{

char Message[ ]="ArabSagar";

Secret(Message);

cout<<Message<<endl;

}

(f) In the following program, if the value of Guess entered by the user is 65, what will be the expected  output(s) from the following options (i), (ii), (iii) and (iv)?                                                              2

#include <iostream.h>

#include <stdlib.h>

void main()

{

int Guess;

randomize();

cin>>Guess;

for (int I=1;I<=4;I++)

{

New=Guess+random(I);

cout<<(char)New;

}

}

(i) ABBC

(ii) ACBA

(iii) BCDA

(iv) CABD


	2

	
	
	
	

	Q.2.
	a)
	What is function overloading?  Give an example in C++ to illustrate overloading.
	2

	
	
	
	

	
	b)
	Answer the questions (i) to (ii) after going through the following class:
	2

	
	
	class job
{

int jobd;

char jobtype;

public:

~job( )                           // function 1

{

cout<<“Resigned”<<endl;

}

job( )                            // function 2

{

jobid = 10;

jobtype = ‘T’;

}

void tellme( )              // function 3

{

cout<<jobid<<“ : ”<<jobtype<<endl;

}

job(job &j)                 // function 4

{

jobid = j.jobid + 10;

jobtype = j.jobtype + 1;

}

};

i)  Which member function out of Function 1, Function 2, Function 3 and 
     Function 4 shown in the above definition of class job is called 
     automatically, when the scope of an object gets over?  Is it known as 

     Constructor or Destructor or Overloaded Function or Copy Constructor? 

ii) job p;               // line 1

    job q(p);           // line 2

    Which member function out of Function 1, Function 2, Function 3 and Function 4 shown in the above definition of class job will be called on execution of statement written as line 2?  What is this function specifically known as out of Destructor or Copy Constructor or Default Constructor? 
	4

	
	
	
	

	
	c)
	Define a class hotel in C++ with the following descriptions:
	4

	
	
	Private Members:
rno                                 // data member to store room number.

name                             // data member to store customer name.

tariff                              // data member to store per day charges.

nod                                // data member to store number of days of stay.

calc( )                 // a function to calculate and return amount as nod * 
                                           tarrif and if the value of nod * tarrif is more than 
                                          10000 then as 1.05 * nod * tarrif.

Public Members:

checkin( )                   // a function to enter the content rno, name, tariff and nod
checkout( )                 // a function to display rno, name, tariff, nod and amount 

                                      (amount to be displayed by calling function calc( ).
	

	
	
	
	

	
	d)
	Answer the question (i) to (iv) based on the following:
	4

	
	
	class regular
{

char schoolcode[10];

public:

void inregular( );

void outregular( );

};

class distance

{

char studycentrecode[5];

public:

void indistance( );

void outdistance( );

};

class course : public regular, private distance

{

char code[5];

float fees;

int duration;

public:

void incourse( );

void outcourse( );

};

i) Which type of Inheritance is shown in the above example?

ii) Write names of all the member functions accessible from outcourse( ) 
      function of class course.

iii) Write name of all the members accessible through an object of class course.

iv) Is the function inregular( ) accessible inside the function indistance( )? 
      Justify your answer.
	

	
	
	
	

	
	
	
	

	
	
	
	

	Q.3.
	a)
	Write a function sortpoints( ) in C++ to sort an array of structure Game in descending order of points using Bubble Sort.
Note: Assume the following definition of structure Game.

struct game

{

long pno;                   // player number

char pname[20];        // player name

long points;

};
	3

	
	
	
	

	
	b) 
	An array S[40][30] is stored in the memory along the column with each of the element occupying 4 bytes, find out the base address and the address of the element S[20][15], if an element S[15][10] is stored at the memory location 7200.
	4

	
	
	
	

	
	c) 
	Write a function QUEINS( ) in C++ to insert an element in a dynamically allocated Queue containing nodes of the following given structure:
struct node

{

int pid;                    // product id

char pname[20];

node *next;

};
	4

	
	
	
	

	
	d)
	Define a function swapcol( ) in C++ to swap (interchange) the first column elements with the last column elements, for a two dimensional integer array passed as the argument of the function.
	3

	
	
	
	

	
	e)
	Convert the following infix expression to its equivalent postfix expression:

 X – Y / (Z + U) * V. 
	2

	
	
	
	

	Q.4.
	a) 
	Observe the program segment given below carefully and fill in the blanks marked as Line 1 and Line 2 using fstream functions for performing the required task.
	1

	
	
	#include<fstream.h>
class stock

{

long ino;                            // item number
char item[20];                   // item name
int qty;                              // item quantity
public:

void get(int);                   // function to enter the content
void show( );                  // function to display the content 
void purchase(int tqty)  // function to increment in quantity
{

qty + = tqty;

}

};

void purchaseitem(long pino, int pqty)  //pino ( ino of the item purchased
{                                                             // pqty ( number of items purchased 
fstream file;

file.open(“items.dat”, ios::binary|ios::in|ios::out);

int pos = -1;

stock s;

while(pos ==-1 && file.read((char *) &s, sizeof(s)))

if(s.knowino( ) = = pino)

{

s.purchase(pqty);

pos = file.tellg( ) – sizeof(s);

________________________ // Line 1, to place the file pointer to the req. pos.
________________________ // Line 2, to write the object s on the binary file.
}

if(pos = = -1)

cout<<“No updation done as required ino not found…”;
file.close( );

}
	

	
	
	
	

	
	b)
	Write a function count_do( ) in C++ to count the presence of a word “do” in a text file “memo.txt”.  Note: “do” occurring as a part of a word will not be considered.  
	2

	
	
	
	

	
	c)
	Write a function in C++ to read and display the details of all the users whose status is ‘A’ (i.e. active) from a binary file “user.dat”.  Assuming the binary file “user.dat” is containing objects of class ‘user’ which is defined as below:
	3

	
	
	class user
{

int uid;                    // user id

char uname[20];     // user name

char status;             // user type : ‘A’ active, ‘I’ inactive

public:

void register( );      // function to enter the content
void show( );         // function to display all data members 
char getstatus( )

{

return status;

}

};
	

	
	
	
	

	Q.5.
	a)
	What is the purpose of a key in a table? Give a suitable example of a key in a table.
	2

	
	
	
	

	
	b)
	Consider the following tables DRESS and MATERIAL.  Write SQL commands for the statements (i) to (iv) and give the outputs for SQL queries (v) to (viii).
	6

	
	
	DRESS
DCODE

DESCRIPTION

PRICE

MCODE

LAUNCHDATE

10001

FORMAL SHIRT

1250

M001

12-JAN-08

10020

FROCK

750

M004

09-SEP-07

10012

INFORMAL SHIRT

1450

M002

06-JUN-08

10019

EVENING GOWN

850

M003

06-JUN-08

10090

TULIP SKIRT

850

M002

31-MAR-07

10023

PENCIL SKIRT

1250

M003

19-DEC-08

10089

SLACKS

850

M003

20-OCT-08

10007

FORMAL PANT

1450

M001

09-MAR-08

10009

INFORMAL PANT

1400

M002

20-OCT-08

10024

BABY TOP

650

M003

07-APR-07

MATERIAL

MCODE

TYPE

M001

TERELENE

M002

COTTON

M004

POLYESTER

M003

SILK


	

	
	
	
	

	
	
	i) To display DCODE and DESCRIPTION of each dress in descending order 
    of DCODE.
ii) To display the details of all the dresses which have LAUNCHDATE in 
     between 05-DEC-07 and 20-JUN-08 (inclusive of both dates).

iii) To display the average PRICE of all the dresses which are made up of 
      material with MCODE as M003.

iv) To display material wise highest and lowest price of dresses from DRESS 
      table. (Display MCODE of each dress along with highest and lowest price).

v)   SELECT SUM(PRICE) FROM DRESS WHERE MCODE = ‘M001’;

vi)  SELECT DESCRIPTION, TYPE FROM DRESS, MATERIAL WHERE 
      DRESS.DCODE = MATERIAL.MCODE AND DRESS.PRICE>=1250;

vii) SELECT MAX(MCODE) FROM MATERIAL;

viii) SELECT COUNT(DISTINCT PRICE) FROM DRESS;
	

	Q.6. 
	a)
	Verify the following algebraically.
	2

	
	
	(A’ + B’) . (A + B) = A’ . B + A . B’
	

	
	
	
	

	
	b)
	Write the equivalent Boolean Expression for the following Logic circuit:


	2

	
	
	
	

	
	c)
	Write the POS form of a Boolean function H, which is represented in a truth table as follows:

X

Y

Z

H

0

0

0

1

0

0

1

0

0

1

0

1

0

1

1

1

1

0

0

1

1

0

1

0

1

1

0

0

1

1

1

1


	1

	
	
	
	

	
	d)
	Reduce the following Boolean Expression using K-Map.

F(U, V, W, Z) = ∑(3, 5, 7, 10, 11, 13, 15)
	3

	
	
	
	

	Q.7.
	a)
	What was the role of ARPANET in the Computer Network?
	1

	
	
	
	

	
	b)
	Which of the following is not a unit for data transfer rate?
	1

	
	
	i)   mbps
	

	
	
	ii)  kbps
	

	
	
	iii) sbps
	

	
	
	iv) gbps
	

	
	
	
	

	
	c) 
	What is the difference between VIRUS and WORMS in the computers?
	1

	
	
	
	

	
	d)
	What term we use for a software/hardware device, which is used to block unauthorized access while permitting authorized communications.  This term is also used for a device or set of devices configured to permit, deny, encrypt, decrypt or proxy all (in and out) computer traffic between different security domains based upon a set of rules and other criteria.
	1

	
	
	
	

	
	e)
	“Vidya For All” is an educational NGO. It is setting up its new campus at Jaipur for its web based activities.  The campus has four buildings as shown in the diagram below.  Answer the following questions based on the diagram and data tables given below:
i) Suggest a cable layout of connections between the buildings.

ii) Suggest the most suitable place (i.e. building) to house the server for the NGO. Also, provide a suitable reason for your suggestion.
iii) Suggest the placement of the following devices with justification:

1. Repeater

2. Hub/Switch

iv) The NGO is planning to connect the International Office situated in Delhi.  Which out of the following wired communication links, will you suggest for a very high speed connectivity?

1. Telephone Analog line.

2. Optical Fiber.

3. Ethernet Cable.
	4




Centre to centre distances between various buildings as per architectural drawings (in meters) is as follows:

	Main Building to Resource Building
	120 m

	Main Building to Training Building
	40 m

	Main Building to Accounts Building
	135 m

	Resource Building to Training Building
	125 m

	Resource Building to Accounts Building
	45 m

	Training Building to Accounts Building 
	110 m


Expected Number of Computers in each Building is as follows:
	Main Building 
	15

	Resource Building
	25

	Training Building 
	250

	Accounts Building
	10


f) Write the full forms of the following:






    1


a) FTP

            b) FSF

g) Name any two common Web Browsers. 






    1
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